}na_sc“ A loose Windshield Retainer may
aliow the top fo disengage from the wind-

shleld, causing damage fo the top and

possible injury to the occupants of the vehicle.

m‘mb N-so Windshield Retainer (2 pleces) i
Install Windshleld Retalner on top of windshield

frame. Use retalner pleces as templates to mark,
center punch and drlll eleven 1/8° holes. Install
with eleven #8 x 1/2° Pan Head Screws.

Make certfain that the Windshield Retainer Is
Ry Ll s 3 securely fastened to the windshield during
P Sbesrah apignp 0 Installation and at all other times by

diameter holes. Install retainer pleces checking the tightness of the mounting

with 11 #8 x 1/ Phillips Head Screws. screws every three months. .

Drill 1 hole between the

two retainer pleces. Windshield

Windshield Retainer Detail
Cross Sectlon
Front of Vehicle

Do not use any drill size other
than 1/8". Fallure to use the
correct size may cause the
Windshleld Retainer to loosen.

Step Three

Install the Left and Right Side Belt Rails on
each side of the vehicle. Use the Belt Ralls as PR, S
templates to mark, center punch and drill six  side Bet Rall Deta

3/8" holes along the top edge of the body Cross Section 5/16" Washers
on each side of the vehicle. Some vehicles
may already have four of these holes. Secure
the two rear holes In the ralls with two 5/16" b kv
Phillips Head Bolts, two 5/16" Washers and
two 5/16" Tapping Plates. Do not lighten the
bolts yel. Gilis

Tapping Piate

Inside of Vehicle

Front

Sidle Belt Roil

Caution: When drilling in the fop edge of the

vehicle body, check underneath for wiring

for the rear lights. Pull the wiring out of the
way before drilling.

™ |



